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[ MWERT 7 1)L (txt, csv, jpg 18 E) DAL FIIRIE J
chEc printf() --- BEICXFZH
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1. T7AIVIRA D FILE *fp;
2. 771 IIVZR< fp = fopen("hoge.txt", "w");

3.7 1MWV ESGHIEZTTS fprintf(fp, "hello"”);

4. T7 MW ERUS fclose(fp);
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fp = fopen("hoge.txt"” , "w");
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#include <stdio.h>
int main(void) {

/] T7AILRA>FD
FILE *fp;
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/] T7A)L%=R<

/] T7AIVCEBZAD _ . P —

BU#(E printf EEAU

/] T7AIVZRALD
fclose(fp);
return O;
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/#include <stdio.h> \

int main(void) {

/|7 AIRAIDES
FILE *fp;

/127 ALz <
fp = fopen("multi.txt", "w");

/] 27 AIVCEZTIAD
\] ras?
[ W52
J

fclose(fp);
return O;
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[50)4 <% 10008, J7 /I’)I/(L_%%Hjb‘C"FE;‘%\]

/#include <stdio.h> )
int main(void) {

/|7 AIRAIDES
FILE *fp;

/127 ALz <
fp = fopen("multi.txt", "w");

/] 7 AILICEZIAD printf &E#RIC

inti; e - aly

for (i = ]_; i <=100: i++) < aﬁ’&ﬁméﬁbhé
fprintf(fp,|"%d¥n", 5 * iy;

¥

[/ 771 ZECSD
fclose(fp);
return O;




3. TOTCILEDER



Excel EBEETTB(C(E
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#include <stdio.h>
int main(void) {

/] D7 A IARA D YisR+F% csv [CF D
FILE *fp;

/127 A ZRH<
fp = fopen(|'graph.csv'], "w"),

[/ 77 AIVCESTIAD

int x, y;

for (x = -10; x <= 10; x++) {
y =X *X;
fprintf(fp,|"%d, %d¥n", x, );
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/17 ZEHACS
fclose(fp);
return O;
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graph.csv - Excel 57 w—) ? H -
B A-T A7 85 74 B F|R F-h TH(» S kano09@infoseek.jp -

8 X

Fi5: 18.3333333

3 FTAOELS

=57 M fe

A B C D E F G H
1 -10 100
2 -9 a1
3 -3 G4 120
4 =7 49
5 -6 1] 100
6 -5 25
7 -4 16 w0
B8 -3 g
8 -2 4
10 ~1 1 &0
11 0] 0]
12 1 1 40
13 2 4
14 a o 20
15 4 16
16 o 25
17 a 36 -15 10 5 0 5 10 15
18 7 49
19 8 G4
an L& =k |

graph )
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include <stdio.h>

int main(void)

{
[/T7AIIRAIDES
FILE *fp;

/127 ARk <
fp = fopen("graph.csv”, "w");

;
SEELEROSHE 1
BLILICEE
\_ N
[/ 77 AN ZEH 0D

fclose(fp);
return O;
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y=0.2x3-13x24+09x — 10 DTS T =ZHWNTHELD

[#include <stdio.h> \
int main(void)
{
/]| T7AILIRA > HFDES
FILE *fp;

/127 ARk < »
fp = fopen("graph.csv", "w"); double B TEHEUT

/]I 7AILCEEAD X & y DRIFZEET AL

double X, y;

for(x = —10; X <= 10; x++){
y = 0.2*%x*x*x - 1.3*x*x + 0.9*x - 10; /
fprintf(fp, "%lIf, %If¥n", X, y);

b
/177 AINZEACSD
fclose(fp);
return O;
b
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H - @&-§- = graph.csv - Excel 557 w—)|, 7 B - O X
fimb BA R-T {7 8% F-4 #E Fx F-L FH( =% kanod@infoseek jp -

57 1 v Jx M
A B C D E F G H ]

1 =10 =345

2 -5 —-26072

3 - —202 8

4 -7| 1486

5 6| -1054

6 -5 -7z -15 15

7 —4 472

8 -3 288

g -2 186

10 —1 124

11 0 —10

12 1 -102

13 2 -118

14 a -136

15 4 144

16 5 -3 0

17 4] 82 |

18 7 12

19 B 164 o) Y

20 e o0 -

graph ®
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X = cos 6 #include <stdio.h>
. (0<6 <2m) _[#include <math.h>
y =sin 6 %
/ int main(void) {

math.h DOFEHAH

IENEHBDIV—T

math.h DPRTERETNTNS

sin B8# & cos BEE

FILE *fp;
fp = fopen("graph.csv", "w");

/] 77 AIVCEEZIAD
double x, v, t;

for(t = 0; t <= 2*M_PI; t+=0.01){

X = cos(t);

y = sin(t);
fprintf(fp, "%lIf, %lIf¥n", X, y);

b

fclose(fp);
return O;
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1

2 089555
3 05998
4 0595955
5 05952
6 089875
7 | 0553201
g | 0857551
o | 0SS86802
10 | 0985953
i1 | 0555004
12 | 09593956
13 | 0992809
14 | 0951562
15 | 0980216
16 | 0988771
17 | 0987227
18 | 0985585
16 | 0983844
T an=l=LelaTat
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0018955
Q0259956
0039555
0045579
Q058564
Q0695943
0078815
Q089879
0088553
009775
o118z
0129634
0135543
0148435
015593185
0169182

017903
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(0<6<2nm) ODTTTZENTTFE0)
X a (IEBDOBERE

x = sin(a@) cos @
y = sin(af) sin 6

e 9-2

r =0sin(cos8) (—2r <0 <2m) DT T T=ZHLNTFL)

HE(TRHIRE

2+ (y—Vx2) =1 DIS TRBOTTFE
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